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CERTIFICATE IN FIRE SAFETY 

Term-End Examination 

June, 2011 

OSEI-011 : INTRODUCTION OF FIRE 

Time : 3 hours 	 Maximum Marks : 100 

Note : (i) All parts of the questions are compulsory except 
optional parts of the questions no. 3 to 4. 

(ii) No answer can be repeated again. 

PART - A 
1. Question number 1 Right or Wrong : One mark 

each. 	 1x18=18 

(a) 7qml 	Tr4 @Ca.  t 	CI-11-1i1 	\11101 
t I( ) 

(b) 'NT 	alTzEd9 aka TR;  th:T "WF ceilq 	aka  

c14111 tl ( ) 

(c) 01 ta)11.*T 179.  4.15 lc-cki olds t I ( ) 

(d) if 	f*-1:11.  772.1 	 ichii Aim t 

zu-4.  4sii 3th -44-erl 
3-14a1T 	Iqi*T11-  I ( ) 

(e) fW1:1111:1     t *41 

fq-4R1 	*iiii-i Baia s1Mciil t I ( ) 
(f) reirchtul glt1 dr)61-11 AchRI 

3 x 106 1:ITZTR4 	-q-et t I ( ) 
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(g) fgf9 	tRilgrich tt,1 C2H8  t 1 ( ) 

(h) 4-(1rcif'oe") for-gra 4% 	74% 

	

6)c1 	 t I ( ) 

(i) (11C1 Lhlt-Lh tt-I 41r1 wit-Lh 	11-T-F41 

c11114-11-1 -97 Acid! t 1 ( ) 

(i) 	t-1)51 	31-1-7-iTrgrw zfq 	k11Fs41-1 stio, 

4I3St 514'1 4 citqf 	t ( ) 

(k) 	4141 cila (Tr 	)3t-97Tp:rw 747 10 frizt 

3-Trur t ( ) 

(1)   alfr9TP:IT 7:17 -4 13% 

c.".A 4-1 -1q+-i 	 14-(1 Alor t ( ) 

(m) co2  -414 ITft 	t ( ) 

(n) CO2  tti 	-1'-T4 01:400 	31-17M 	s?l 	ot 

t ( ) 

(o) riti-s ti7 	z 	alzr 	► t ( ) 

(p) 	 t1(-1 	37F* otlIti 63 71. 714. 

tl ( ) 

(q) (cis 	43-1 if 147 TfW* 	tti 

giturti( ) 

(r) cilcrctj.+1 VIN1T   4111 	tall cht 

af-T9T47 	-q-r4 	1Z-11& 61(11 t ( ) 

OSEI-011 	 2 



PART - B 

2. 	Match the following : 	 1x10=10 

(a) (i) 	‘31 	01 4311 

(b) 4 	klt1+-1 1I 	d 	(ii) 	17FTIrW 

(c) 4k11 4IK-41kti 	(iii) KNO3  

(d) 71 TT. 	(iv) aa3 .414 oil 

(e) 1.1 . TF. 7r-F (v) 

(f) (vi) *ffirr 

(g) tichYI.1ti7 	(vii) Lbiti( iN11-1 

(h) 	wort ITI:cf 	(viii) 11 "ICt)0 

(i) 4IcR 311.7 (ix) tilq 

(0) 	1144 	(X) Vi7 - 41 4 

3. 	Short answer type 7 out of 10 will be attempted. 
6x7=42 

(a) 044    auk Vfq7 

(b) dolii*P.Tr4ffturV• feti***4 fmt 

(c) 	rcs 	-Rw TA7r*z rad 

(d) *IR at 	airriTilTW**4 fel:gt 3170 
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(g) 

(e) 3#9.7Frw 4i.1* 	 taugici 

7ft-Atsv-ik*zfFdi 

(f) 6:31* ail 14 	.) (11 	 \31 I 

4g1 -ur4*zrr-q---4At -k4aul 

f-*-t 01-1 911'1 - -1):11(1  	 fffti7 I 

	LIV K1 1:Fq *-rafiT  	Vf-A-7 

	

ft-A-az-{ WIT* d),-R 	 TifaTtu 	fma ? 

4. 	Long answer type 3 out of 5 will be attempted. 
10x3=30 

(a) ciki 1N7 	 q•-f fwzi-rs3W 	mik 	4 a 	-1 

*If-7 

(b) faf 	 aii 4 dciut Tiro 
Az Thfu7 

(c) afrivrm* 	Ai.r4 3rr-wzrIA 	fqRrrT 

*1-r-A7 

(d) d)4t*z f7r7§7 

(e) 	TN).  fafiT 4rurzffaiZ qt-HK 
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